Day 1 - Arithmetic Sequences after.notebook February 03, 2016

Sequences

Find the first 5 terms of the following sequences:
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Ex: 2,5,8,11, 14 I

3 >
e The difference between each term 1s constant.

e In the sequence 2, 5, 8, 11, 14. the difference between each term is 3.

e The difference 1s called'd". d =1t -1
o The first term is called"a" or "'t,"".
e The second term 1s called't,".

o The last term or an indicated term 1is calledt,". (f)méf °\\ J“ “\\

e The position of a term or the number of terms 1s calle'
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Arithmetic Sequences

To find any given term in an arithmetic sequence we use

the following formula:
Comnman Aﬂf—f@f\@

_a-|-(n 1)d 3= b-h-tt=b
"C“%‘_\“ “ﬁk(-‘\s

Example I.
Find the indicated term of the following sequence
a= |

1,4,7... d=Y-1-1-% =3

=\
d D

a) Find t b) Find {50 o N=20
RRICRERT: m b, = 14 (60-1)(2)

b= V90
Lz ar(n D o= 1r0)
{ ( \ ) £50: \—\-\"\_I
=1+ Q010
X b= 48
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1= 1+
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We can also determine the number of terms in the
sequence.

[ =a+n-Dd

Example II.

How many terms are in the following sequences?
(Solve for "n")

1,3,5,..71 {.,f ar(n-0d
N = | +(n- NE)

o= |
d:'a 1@_: ﬂ“\
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x, x+3, x+6,... ,26;3\3 1= o + <“_DA

X —X
o= X Xa53 = X 4+ (n-N )
= X¥D-x 2 = (ol
d=73 3,
= o)
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arfhecbic ) GDd
Flnd " " "d[

and "'t,"" for the following sequence
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Homework

#1
#2
#3
#6
#9
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